Anx B - Work Completion Report

Company	1	MRMLLP	Name of contractor	Mahaveer	kumar	Sl. No. site bill	s reg.	3375	
Project/site	(GMR	No.	gujjar		BOR YELL MARK			
Block no.		Clubhouse	Nature of work	Granite w	ork	Dt. site bills reg	g.	07/02/24	
WO no.		Clabilouse	Work done from date	15.01.24		M-codex bill ID.			
WO date			Work done to date	25.01.24		WO issued?			
Sl. No.	Unit/floor	Dotoile -C 1	Contractor bill no.			GST bill require	ed?		
	no	- Sumis of Worl		Qty	Units	Rate ID	Rate	Amount	
1.	Clubhouse II & V floo		kitchen wood work	86	Sft	TF103	35	3010	
2.		Chamfering		00					
3.		Sink cutting		99	Rft	TF105	15	1485	
4.		Hole making for		2	No.s	TF108	450	900	
5.	2000	Lift flooring	or taps	2	No.s	TF107	100	200	
6.				22.50	Sft	TF146	30	675	
7.		Tiles cladding		88	Sft	TF195	25	2200	
8.		Adding 100/ fo	na ann all ann a C a 1					Market Broken	
9.		Adding 10% fo	or small amount of work					847	
10.		Total amount							
Remarks:						No.		9317	
Approved by project manager, Approved by QS			Approved by QS team	m Approved by Director/E&D team			C&D toom		
Sign:	June	Sign:				Sign:			
Date /		06/02/29	Date:			Date:		Mark Comments	

Notes: 1. This shoet replaces installation report and advice for credit to contractors, 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above. 5. For bill amount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to be taken. 7. Director include – Soham, Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK). 8. Entry of rate ID is mandatory, 9. This sheet must be sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original bills at HO (can be sent).

	TE SHEET				1015701500		
Company	Name:	MRMLLP				Approved	Ahmed
Project:		Gulmohar Residency				Sign:	7,544
Work Description: Contractor Name:		1: Tiles & granite flooring				J.g	
		Mahaveer kumar gujjar					
Prepared	By	Nagendar					
Date:		25.01.24					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
1	II & V floor granite work		86.00	Sft	35.00	3,010	item fread Total
2	Chamfering		99.00	rft	15.00		
3	Sink cutting		2,00		450.00	1,485	
4	Hole cutting taps		2.00	no.s		900	
5	Lift flooring		22.50	no.s	100.00 30.00	200	
6	Tiles cladding	MA MARKET AND THE RESERVE OF THE PARTY OF TH	88.00	Sft	25.00	675 2,200	
			13.1	No. of Lysian	Tes much	8470	
	Adding 10% for small amount of work				CALL STORY	847	
					V.	9317	(Francisco Control
	Note: Cutting charges included in rates						

Company	Nama		THE RESERVE OF THE PERSON		NOT THE REAL PROPERTY.	The Property	できることを予防に対象		A ROSE WATER TO THE REAL PROPERTY.
roject:	rvame.	MRMLLP			Ammunud		Ahmed		
-		Gulmohar Residency		The State of the S	Approved	by:	Anmed		
Work Description: Contractor Name:		Tiles & granite flooring			Sign:				
		Mahaveer kumar gujjar							
repared	Ву	Nagendar		MENERY IS					
Date:		25.01.24							
S No.	To the state of th		A	В	C	D	E= AxBxCxD	F	G=Sum of E
51.0.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units	Item Head Total
	Clubhouse tiles flooring & granite work				Treight	1103	Quantity	Onits	Item Head Total
1	II floor granite	Kitchen platform	13.00	2.00	1.00	1.00	26.00	Sft	
2		Chamfering	13.00	1.00	1.00	1.00	13.00	rft	
3	V floor gramite	Bar counter granite	10.00	2.00	1.00	2.00		Control of the Contro	
4		Chamfering	38.00	1.00	1.00		40.00	Sft	
		SS stand tables granite	4.00	2.50	1.00	1.00	38.00	rft	
6		Chamfering	24.00	1.00		2.00	20.00	Sft	
7	Sink cutting	II & V floor kitchens	1.00		1.00	2.00	48.00	rft	
8	Hole cutting taps	Hoor racciteris		1.00	1.00	2.00	2.00	No.s	
9	Lift flooring		1.00	1.00	1.00	2.00	2.00	No.s	
10	Tiles cladding	har country parties well	5.00	4.50	1.00	1.00	22.50	Sft	
	The Gladding	bar counter partion wall	11.00	1.00	4.00	2.00	88.00	Sft	

Allowance for Labour charges

Mahaveer kumar gujjar Mallapur Hyderabad

Date: 29.01.24

In favor of: Project / Site: MR Mallapur LLP Gulmohar Residency

Location:

Mallapur

Type of Work:

Granite & tiles laying in clubhouse

Towards:

Bill for labour charges

S No.	Description	Amount
1.	Brief description of work done: Towards club house tiles in kitchen & bar counter granite & tiles work Total Amount = 9317/-	Rs.3726/-
	Work done from date 15.01.24 to date 20.01.24	

Amount in words: Three thousand seven hundred twenty six Rupees Only.

Sign:		
	PRINTED TO THE PRINTE	

Allowance for Equipment

Mahaveer kumar gujjar Mallapur Hyderabad

Date: 29.01.24

In favor of:

MR Mallapur LLP Gulmohar Residency

Project / Site: Location:

Mallapur

Type of Work:

Granite & tiles laying in clubhouse

Towards:

Bill for equipment

S No.	Description	Amount
1.	Brief description of work done: Towards club house tiles in kitchen & bar counter granite & tiles work Total Amount = 9317/- Work done from date 15.01.24 to date 20.01.24	Rs.3726/-

Amount in words: Three thousand seven hundred twenty six Rupees Only.

Sign:	

Allowance for Consumables

Mahaveer kumar gujjar Mallapur Hyderabad

Date: 29.01.24

In favor of:

MR Mallapur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Granite & tiles laying in clubhouse Bill for consumables.

Towards:

S No.	Description	Amount
1.	Brief description of work done: Towards club house tiles in kitchen & bar counter granite & tiles work Total Amount = 9317/- Work done from date 15.01.24 to date 20.01.24	Rs.1864/-

Amount in words: One thousand eight hundred sixty four Rupees Only.

Sign:			